Ratio to ATLAS

[do/dp'TeadF 3 [do/dp'Tead]Z 2

=
o

=

1072

[EEY

0.5

7000 GeV pp Jets
— T T | T I l | ' ! ! | ! | | -
3 R32 vs pT (anti-k (0.6), pT > 60) -
- m ATLAS _
[ --3-- Herwig 7.2.0 default i
— —a— Pythia 8.186 default B

----- ¢ Sherpa 2.1.0 default

: ¥ . -
: . ] [ | :
B ‘ B
L ! | | | | | | | | | | | | |:
— | | | . | 1 ' ' | ' ' I =
iR s E
¢ | :

:I | H | | | | . . l
200 400 600 800

pT(Ieading jet) [GeV]

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


